
 

ENVIRONMENTAL AND HEALTH PRODUCT 

DECLARATION  

Homogeneous floor covering Grabo Fortis 
 

 

Environmental product declaration in accordance with standards NF EN ISO 14025, NF EN 15804+A1 

And its national complement NF EN 15804/CN 

 

 

 

 

 

 
 

 

May 2019 

 

Registration number: 4-183 :2019 

 

 

REALISATION: 

EVEA 

Le Sillon 8 avenue des Thébaudières – 44800 Saint-Herblain 

Tel. + 33 (0)2 28 07 87 00 - Fax. + 33 (0)2 40 71 97 41  

www.evea-conseil.com 

  

 



Page 2 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

Warning Notice: 

The information contained in this declaration is provided under the responsibility of Graboplast (producer of the FDES) in 
accordance with NF EN 15804+A1, its national supplement NF EN 15804/CN and NF EN 16810. 
 
Any use, in whole or in part, of the information provided in this document must at least be accompanied by a complete reference to 
the original FDES and to its producer, who may submit a complete copy. 
 
It is recalled that the results of the study are based only on facts, circumstances and assumptions that were submitted during the 
study. If these facts, circumstances and assumptions differ, the results may change. 
In addition, the results of the study as a whole should be considered in the light of the hypotheses, and not in isolation. 
 
CEN standard EN 15804+A1 and NF EN 16810 serves as the Product Category Definition Rules (PCR). 
 

Reading guide 

The display of inventory data complies with the requirements of NF EN 15804+A1. 
In the following tables 2.53E-06 should be read: 2.53x10 -6 (scientific writing). 
 
The units used are specified before each flow, they are: 

- the kilogram « kg », 

- the cubic meter « cub», 

- the kilowatt-hour « kWh », 

- the mega joule « MJ », 

- square meter « sqm ». 

 
Abbreviations: 
- LCA: Life Cycle Analysis  
- « FDES » - Fiche de Déclaration Environnementale et Sanitaire 
- EPD: Environmental Product Declaration  
PCR - Product Category Rules 
- RSL: Reference Service Life  
- FU: Functional Unit  
- LCV: Lower Calorific Value  
 

Precautionary use of the FDES for product comparison 

The DEP of construction products may not be comparable if they do not comply with the NF EN 15804+A1 standard and NF EN 
16810. 
 
The standard NF EN 15804+A1 defines in § 5.3 Comparability of DEPs for construction products, the conditions under which 
construction products can be compared, based on the information provided by the DEP : " A comparison of the environmental 
performance of construction products using EPD information should be based on the use of the products and their impacts on the 
building, and should take into account the entire life cycle (all information modules). " 
  



Page 3 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

SUMMARY 

 
1 Introduction ................................................................................................................................................................................. 4 

2 General information .................................................................................................................................................................... 5 

3 Product description and functional unit ....................................................................................................................................... 6 

4 Life cycle stages ......................................................................................................................................................................... 8 

3.1 Flowsheet ...................................................................................................................................................................... 8 

3.2 Production stage. A1-A3 ................................................................................................................................................ 9 

3.3 Construction process stage. A4-A5 ............................................................................................................................... 9 

3.4 Implementation life stages (exclusion of potential savings). B1-B7 ............................................................................. 10 

3.5 End of life stage C1-C4 ............................................................................................................................................... 11 

3.6 Recycling/reuse/recovery potential D: ......................................................................................................................... 11 

5 Information for the life cycle assessment calculation ................................................................................................................ 12 

6 Life cycle assessment results ................................................................................................................................................... 13 

7 Additional information on the release of hazardous substances into indoor air, soil and water during the period of use ......... 18 

8 Product contribution to the quality of life inside buildings: ........................................................................................................ 18 

9 Life cycle assessment results for A RSL of ONE YEAR ........................................................................................................... 19 

  



Page 4 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

1 INTRODUCTION 

 

The framework used for the presentation of the product environmental statement is based on the national complement NF 

EN 15804/CN and INIES program. 

 

The information contained in this declaration is provided under the responsibility of Graboplast. 

 

 

 

 

 
 
 
 
 
  

Contact: 

Margit JANDONE 

 

Contact details: 

Graboplast Zrt 

Fehérvári street 16/b 

H-9023 Gyor  

margit.jandone@graboplast.hu 

+36 20 989 0959 

 



Page 5 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

2 GENERAL INFORMATION 

1. Name and address of declarant: 
GRABOPLAST Zrt 
Hungary, Győr, Fehérvári street 16/b 
9023 

2. The site(s), manufacturer or group of manufacturers or their representatives for whom the FDES is representative :  
Site of Graboplast Zrt in the city Tatabánya 
address: Hungary, Tatabánya, Vigadó street 1, 
2800 

3. Type of FDES: « from cradle to grave » 
 

4. Type of FDES: Individual  
 

5. Date of publication: May 2019 
6. Validation end date: May 2024 

 
7. The commercial reference / Product identification: Grabo Fortis 

Type Product 
Total 

thickness 
(mm) 

Wear 
layer 

thickness 
(mm) 

Surface 
mass 

(kg/sqm) 
Product shape 

Homogeneous 
PVC floorings 

Grabo Fortis 2.0 - 2.80 Rouleaux 2x20m 

 
 

8. FDES verified 
 

The norm EN 15804 of CEN and EN 16810 are used as RCPa. 

Verification independent of the declaration, in accordance with EN ISO 14025:2010 
 

internal                   external 

Auditor’s name: Etienne Lees-Perasso 
Verification program: FDES-INIES Program 
Address: Association HQE.4, avenue du Recteur Poincaré - 75016 Paris. 

Web site : http://www.inies.fr/accueil/ 

a) Rules for defining product categories  
b) Optional for communication between companies, mandatory for communication between a company and its clients 
(view EN ISO 14025:2010, 9.4). 

  



Page 6 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

3 PRODUCT DESCRIPTION AND FUNCTIONAL UNIT 

9. Functional unit description (or declared unit): 

 
« Cover 1 square meter (sqm) of floor covering with homogeneous PVC floorings, a reference life service of 20 years for specified 
characteristics application and use areas according to ISO 10581” and EN ISO 108741.» 
 

10. Data information: The data in this FDES correspond to the industrial company's production in 2017. The cut-off rule has 

been used and complies with that defined in standard NF EN 15804+A1 

 

11. Product description: The product is a homogeneous PVC floor covering. The figure below shown Grabo Fortis Flooring: 
 

 
 

12. Description of product use (application field): The product meets the practical requirements according to the areas of use 
and intensity of use specified in standards NF EN ISO 10874 and EN 685 

 
13. Other technical characteristics not included in the functional unit: The classes of product use according to ISO 10874 are 

34 (very heavy) for commercial classification and 43 (heavy) for industrial classification. The service life is the same for all 
use classes. 

 
 
 
 
 

14. Description of the main components and/or materials of the product: 
 

Parameter Unit Amount 

Product quantity kg/sqm 2.80E+00 

main components / 
The product is mainly composed of PVC. plasticizer. and 

mineral filler  

PVC  kg/sqm 1.232E+00 

Plasticizer kg/sqm 6.16E-01 

Calcium Carbonate  kg/sqm 7.84E-01 

Other kg/sqm 1.68E-01 

Distribution packaging  kg/sqm 
The product packaging consists of a paper tube with plastic 
discs and closing caps at the ends of rolls and all wrapped in 
plastic film. 

Wood Pallet  kg/sqm 1.12E-01 

PELD kg/sqm 1.06E-02 

PP kg/sqm 3.36E-03 

Paper kg/sqm 8.18E-02 

Tape Adhesive  kg/sqm 5.60E-04 

Loss rate during production  % 10 

Loss rate during installation % 5 

Loss rate during maintenance % not concerned  

Justification of provided information  - The information is provided by Graboplast 
                                                           
1 NF EN ISO 10874:2009: Classification of resilient, textile and laminate floor coverings 



Page 7 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

 
15. Specify whether the product contains substances on the candidate list according to REACH regulation (if higher than 0.1% 

by mass) 

At the date of publication of the FDES. no substance in the product is included in the "candidate list of substances with very high 
concern subject to authorisation". 
 
NOTE The technical data sheet for this floor covering can be consulted at the following address: www.graboplast.com. 
 

16. Description of the reference service life (if applicable and in accordance with §7.2.2.2 of NF EN 15804+A1)  
 

Parameter Unit Value 

Reference service life Years 20 

Declared properties of the product at the factory exit - 
The product is in conformity with the norm NF 

EN 14041 

Theoretical application parameters  
Appropriate units/or 

appropriate indications 
- 

Presumed quality of the work  - 
The quality of the work is presumed to be in 

accordance with the manufacturer’s 
recommendations  

Exterior environment  - - 

Interior environment  - 
Volatile pollutant emissions details of products 
covered by the FDES are given in paragraph 

7 

Use conditions - 
The product use is supposed to be in 

accordance with the recommendations in the 
product's technical data sheet  

Maintenance - 
Maintenance scenario has been defined 

according to the manufacturers' 
recommendations  

  



Page 8 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

4 LIFE CYCLE STAGES 

RAW MATERIALS EXTRACTION

MANUFACTURING

TRANSPORT TO THE 

MANUFACTURER

USE

END OF LIFE

A1 - A3

A4 - A5

TRANSPORT TO THE 

BUILDING SITE
INSTALLATION

B1 - B7

C1 – C4

© EVEA

 
Figure 1 Flooring life cycle 

 

3.1 Flowsheet 

The following figure shows the product flow diagram: 

  

 
 



Page 9 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

3.2 Production stage. A1-A3 

Steps A1 to A3 include all processes from the extraction of raw materials to their processing in the factory. 

 

3.3 Construction process stage. A4-A5 

 
the transport between the factory and the installation sites (if applicable):  
 

Parameter Unit Value 

Type of combustible and vehicle consumption or 
vehicle type 

- 
Considered vehicles are Euro 5 type trucks with a payload of 
16-32 ton:  

Distance to the installation site km 1.40E+03 

Use capacity % 3.63E+01 

Density of the transported product  kg/cub 1.39E+03 

Density utilisation coefficient - - 

Scenario description   
The average distribution distance between the factory and the 
installation site is 1400 km  

 
Installation in the building (if applicable): 
 

Parameter Unit Value 

Auxiliary inputs for the installation (specify by 
material) 

appropriate 
units  

 

Electricity consumption  kWh/sqm 7.14E-03 

Glue consumption  kg/sqm 2.75E-01 

Use of other resources  kg/sqm - 

Loss of flooring  % 5 

Waste generated at the construction site before 
processing the waste generated by the product 
Installation (specify by type) 

  

Wood Pallet waste   kg/sqm 1.12E-01 

PELD waste kg/sqm 1.06E-02 

PP waste kg/sqm 3.36E-03 

Paper waste kg/sqm 8.18E-02 

Tape adhesive waste kg/sqm 5.60E-04 

Direct emissions into ambient air. soil and water  kg/sqm - 

Waste treatment scenario   

The scenario for the treatment of packaging waste is: 
 50% in landfill and 50% in incineration. 
Flooring losses during installation are sent to landfill. The 
distance of waste transport to the treatment centre is 30 km 
for landfilling and 100 km for incineration (according to the 
norm FD P01-015). 

Scenario description   
The product is cut to the required dimensions and then 
processed using acrylic glue. A hot welding is carried out 
between the coating sheets 

  



Page 10 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

 

3.4 Implementation life stages (exclusion of potential savings). B1-B7 

 
B1 Use 
 
Parameter Unit Value/description 

Scenario description  
Floor coverings do not contribute to this module according 

to the standard EN 16810. 

Emissions kg/FU - 
 
B2 Maintenance 
 
Parameter Unit Value/description 

Scenario description  
The maintenance scenario is as following: 
- Common maintenance: 4 cleaning / week 
- Periodic maintenance: 4 basic cleaning / year  

Maintenance frequency  Year 0.0048 

Auxiliary inputs for maintenance     

Water consumption L/year/sqm 1.06E+01 that is 2.12E+02 over the RSL  

Electricity consumption kWh/year/sqm 7.44E-02 that is1.49E+00 over the RSL 

Cleaning agent consumption L/year/sqm 7.13E-02 that is 1.43E+00 over the RSL 
 
B3 Repair 

 
Parameter Unit Value/description 

Scenario description  
Floor coverings do not contribute to this module according 
to the standard EN 16810. 

Inspection process   - 

Repair frequency year - 

auxiliary inputs (specify materials)  - 

Waste generated during repair (specify materials) kg - 

Net freshwater consumption  cub  

Consumption and type of energy  - 
 
B4 Replacement 

 
Parameter Unit Value/description 

Scenario description  
Floor coverings do not contribute to this module according 
to the standard EN 16810. 

Replacement frequency year - 

Consumption and type of energy kWh - 

Replaced worn part quantity  kg - 
 
B5 Refurbishment  

 
Parameter Unit Value/description 

Scenario description  
Floor coverings do not contribute to this module according 
to the standard EN 16810. 

Refurbishment frequency year - 

Quantity of material required   - 

Waste generated during refurbishment kg - 

Consumption and type of energy kWh - 

Other assumptions for scenario development  
Appropriate 

units  
- 

 
 



Page 11 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

B6 – B7 Energy and water use 
 
Parameter Unit Value/description 

Scenario description  
Floor coverings do not contribute to this module according 
to the standard EN 16810. 

Auxiliary inputs specified by material  
Appropriate 

units  
- 

Net freshwater consumption cub - 

Type of energy  kWh - 

Equipment output power  kWh - 

Characteristic performance 
Appropriate 

units 
- 

Other assumptions for scenario development 
Appropriate 

units 
- 

 

3.5 End of life stage C1-C4 

 
Parameter Unit Value/description 

Scenario description  

The product (mixed with the glue) is removed and sent to a 
landfill centre at the end of its life. Transport between the 
construction site and the landfill site is by truck. with an 
estimated distance of 30 km (according to FD P01-015)  

Quantity collected separately  kg/sqm - 

Quantity collected with mixed construction waste  kg/sqm 3.08E+00 

Quantity destinated for reuse kg/sqm - 

Quantity for recycling kg/sqm - 

Quantity for energy recovery  kg/sqm - 

Quantity of disposed product  kg/sqm 3.08E+00 

 

3.6 Recycling/reuse/recovery potential D: 

Module D is not taken into consideration in this study. 
  



Page 12 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 
 

 

5 INFORMATION FOR THE LIFE CYCLE ASSESSMENT CALCULATION  

Used PCR  EN 15804+A1:2014. NF EN 15804/CN:2016 and NF EN 16810. 

System boundaries 
System boundaries respect the limits imposed by the norm NF EN 15804+A1 and 
its national complement NF EN 15804/CN. 

Allocations 
A surface allocation of manufacturing data was performed by Graboplast for its 
various production sites. 

Geographical and 
temporal 
representativeness of 
primary and secondary 
data 

Generic data from the ecoinvent database 3.4 
Used software: 
 

   - SimaPro. life cycle assessment software (V8.5). 
 
- Ev-DEC. (www.ev-dec.com). Developed by the consulting firm 
EVEA (www.evea-conseil.com). Which helps to realise the FDES. 

Variability of the results Not applicable 

  

http://www.ev-dec.com/
http://www.evea-conseil.com/


Page 13 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

6 LIFE CYCLE ASSESSMENT RESULTS 

Environmental impacts 

Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 

th
e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f e

ne
rg

y 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n/

 

de
m

ol
iti

on
 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 tr

ea
tm

en
t 

C
4 

E
lim

in
at

io
n 

Global Warming  
kg CO2 eq/FU 

6.42E+00 3.68E-01 2.94E+00 0.00E+00 1.11E+00 0.00E+00 4.02E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.50E-02 0.00E+00 1.90E-01 NDM 

Ozone Depletion  
kg CFC 11 eq/FU 

3.06E-07 6.85E-08 3.86E-07 0.00E+00 1.06E-07 0.00E+00 2.95E-07 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.79E-09 0.00E+00 7.97E-09 NDM 

Acidification of soil and 
water kg SO2 eq/FU 

2.48E-02 1.18E-03 1.33E-01 0.00E+00 1.02E-02 0.00E+00 1.50E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.79E-05 0.00E+00 1.77E-04 NDM 

Eutrophication  
kg (PO4)3- eq/FU 

3.75E-03 1.95E-04 3.34E-02 0.00E+00 2.18E-03 0.00E+00 1.37E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.94E-06 0.00E+00 6.58E-05 NDM 

Photochemical ozone 
creation  

Ethene eq/FU 
8.29E-03 1.91E-04 1.19E-02 0.00E+00 1.41E-03 0.00E+00 2.79E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.78E-06 0.00E+00 5.92E-05 NDM 

Depletion of abiotic 
resources -elements  

kg Sb eq/FU 
5.64E-05 1.15E-06 7.78E-06 0.00E+00 5.99E-06 0.00E+00 1.38E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.67E-08 0.00E+00 3.92E-08 NDM 

Depletion of abiotic 
resources -fossil  

MJ PCI/FU 
1.27E+02 5.55E+00 3.51E+01 0.00E+00 1.83E+01 0.00E+00 2.00E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.26E-01 0.00E+00 6.83E-01 NDM 

Water pollution  
cub/FU 

6.79E+00 1.31E-01 1.52E+00 0.00E+00 6.28E-01 0.00E+00 2.22E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 5.33E-03 0.00E+00 2.52E-02 NDM 

Air pollution  
cub/FU 

5.44E+02 3.87E+01 2.03E+03 0.00E+00 1.88E+02 0.00E+00 4.19E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.57E+00 0.00E+00 1.39E+01 NDM 

 



Page 14 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Use of resources 

Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 th

e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f 

en
er

gy
 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n 

/d
em

ol
iti

on
 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 

tr
ea

tm
en

t 

C
4 

E
lim

in
at

io
n 

Renewable primary energy excl. RM  
 MJ PCI/FU 

6.49E+00 8.26E-02 8.67E+00 0.00E+00 1.23E+00 0.00E+00 1.52E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.36E-03 0.00E+00 6.49E+00 NDM 

Renewable primary energy used as RM  
MJ PCI/FU 

2.02E+00 0.00E+00 3.34E+00 0.00E+00 2.68E-01 0.00E+00 1.48E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.02E+00 NDM 

Total renewable primary energy  
MJ PCI/FU 

8.50E+00 8.26E-02 1.20E+01 0.00E+00 1.50E+00 0.00E+00 3.01E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.36E-03 0.00E+00 8.50E+00 NDM 

Non-renewable primary energy excl. RM 
MJ PCI/FU 

7.20E+01 5.68E+00 5.66E+01 0.00E+00 1.74E+01 0.00E+00 3.03E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.31E-01 0.00E+00 7.20E+01 NDM 

Non-renewable primary energy used as RM 
MJ PCI/FU 

7.83E+01 0.00E+00 8.44E+00 0.00E+00 4.34E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.83E+01 NDM 

Total Non-renewable primary energy  
MJ PCI/FU 

1.50E+02 5.68E+00 6.51E+01 0.00E+00 2.18E+01 0.00E+00 3.03E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.31E-01 0.00E+00 1.50E+02 NDM 

Use of secondary material kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Use of renewable secondary fuels  
MJ PCI/FU 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Use of Non-renewable secondary fuels MJ 
PCI/FU 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Net use of fresh water cub/FU 3.19E-01 1.07E-03 6.03E-02 0.00E+00 2.94E-02 0.00E+00 2.10E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.35E-05 0.00E+00 3.19E-01 NDM 



Page 15 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Waste 
category 

Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 th

e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f e

ne
rg

y 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n/

de
m

o

lit
io

n 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 tr

ea
tm

en
t 

C
4 

E
lim

in
at

io
n 

Hazardous 
waste 

disposed  
kg/FU 

1.97E-01 3.35E-03 7.30E-02 0.00E+00 3.66E-02 0.00E+00 2.60E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.36E-04 0.00E+00 1.97E-01 NDM 

Non-
hazardous 

waste 
disposed 

kg/FU 

1.29E+00 2.96E-01 1.01E+00 0.00E+00 5.36E-01 0.00E+00 9.96E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.20E-02 0.00E+00 1.29E+00 NDM 

Radioactive 
waste 

disposed  
kg/FU 

1.76E-04 3.90E-05 3.96E-04 0.00E+00 5.75E-05 0.00E+00 1.45E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.59E-06 0.00E+00 1.76E-04 NDM 

 



Page 16 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Outflows 
Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 th

e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f e

ne
rg

y 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n/

de
m

o

lit
io

n 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 tr

ea
tm

en
t 

C
4 

E
lim

in
at

io
n 

Components for re-
use  

kg/FU 
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Materials for 
recycling  

kg/FU 

0.00E+00 0.00E+00 7.83E-03 0.00E+00 3.92E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Materials for energy 
recovery  

kg/FU 
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

E
xp

o
rt

ed
 e

n
er

g
y 

M
J/

F
U

 

0.00E+00 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

0.00E+00 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

0.00E+00 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

 



Page 17 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Impact Indicator Unit 
Production 

stage 
Constructio

n stage 
Use stage 

End of life 
stage 

Total 

Global Warming kg CO2 eq/FU 9.73E+00 1.11E+00 4.02E+00 2.05E-01 1.51E+01 

Ozone Depletion kg CFC 11 eq/FU 7.60E-07 1.06E-07 2.95E-07 1.08E-08 1.17E-06 

Acidification of soil and water kg SO2 eq/FU 1.59E-01 1.02E-02 1.50E-02 2.25E-04 1.85E-01 

Eutrophication kg (PO4)3- eq/FU 3.74E-02 2.18E-03 1.37E-02 7.37E-05 5.33E-02 

Photochemical ozone creation Ethene eq/FU 2.04E-02 1.41E-03 2.79E-03 6.70E-05 2.47E-02 

Depletion of abiotic resources -elements kg Sb eq/FU 6.53E-05 5.99E-06 1.38E-05 8.59E-08 8.52E-05 

Depletion of abiotic resources -fossil MJ PCI/FU 1.68E+02 1.83E+01 2.00E+01 9.09E-01 2.07E+02 

Water pollution cub/FU 8.44E+00 6.28E-01 2.22E+01 3.05E-02 3.13E+01 

Air pollution cub/FU 2.61E+03 1.88E+02 4.19E+02 1.55E+01 3.23E+03 

Renewable primary energy excl. RM MJ PCI/FU 1.52E+01 1.23E+00 1.52E+01 2.51E-02 3.17E+01 

Renewable primary energy used as RM MJ PCI/FU 5.36E+00 2.68E-01 1.48E+01 0.00E+00 2.05E+01 

Total renewable primary energy MJ PCI/FU 2.06E+01 1.50E+00 3.01E+01 2.51E-02 5.22E+01 

Non-renewable primary energy excl. RM MJ PCI/FU 1.34E+02 1.74E+01 3.03E+01 9.62E-01 1.83E+02 

Non-renewable primary energy used as RM MJ PCI/FU 8.67E+01 4.34E+00 0.00E+00 0.00E+00 9.10E+01 

Total Non-renewable primary energy MJ PCI/FU 2.21E+02 2.18E+01 3.03E+01 9.62E-01 2.74E+02 

Use of secondary material kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Use of renewable secondary fuels MJ PCI/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Use of Non-renewable secondary fuels MJ PCI/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Net use of fresh water cub/FU 3.81E-01 2.94E-02 2.10E-01 9.08E-04 6.22E-01 

Hazardous waste disposed kg/FU 2.74E-01 3.66E-02 2.60E-01 7.69E-04 5.71E-01 

Non-hazardous waste disposed kg/FU 2.60E+00 5.36E-01 9.96E-01 3.09E+00 7.22E+00 

Radioactive waste disposed kg/FU 6.10E-04 5.75E-05 1.45E-04 6.44E-06 8.19E-04 

Components for re-use kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Materials for recycling kg/FU 7.83E-03 3.92E-04 0.00E+00 0.00E+00 8.22E-03 

Materials for energy recovery kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported energy (electricity) MJ/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported energy (steam) MJ/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported energy (process gas) MJ/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

  



Page 18 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

7 ADDITIONAL INFORMATION ON THE RELEASE OF HAZARDOUS SUBSTANCES 

INTO INDOOR AIR, SOIL AND WATER DURING THE PERIOD OF USE 

  Test results Justification and/or test report 

Emission to indoor 
air1 2 

VOC emissions 

VOC emission class : A+ 
Attestation AgBB 

test number:  
392-2016-00206401 

TVOC emissions are <10 µg/cub after 28 days. 

Behaviour face to fungal 
and bacterial growth 

Not analysed  

Natural radioactive 
emissions from 
construction products 

Not analysed 
 

Fibre and particle 
emissions 

Not analysed 
 

Emissions to soil 
and water1 2 

Emissions into water Not analysed  

Emissions into the soil Not analysed  

1) Emissions to indoor air. soil and water according to horizontal norms for the measurement of emissions of regulated 

hazardous substances from construction products using harmonised test methods in accordance with the provisions of the 

respective Technical Committees of the European Product Standards. where available. 

For more information. refer to the EeB Guide: http://www.eebguide.eu/?p=1991 

2) In France. the INIES Base Technical Committee (CTIB) gives recommendations on the declaration of health and comfort 
characteristics - Guide to writing health and comfort summaries (CTIB N94. 2009) 

 

8 PRODUCT CONTRIBUTION TO THE QUALITY OF LIFE INSIDE BUILDINGS: 

Product characteristics involved in creating hygrothermal comfort conditions in the building  
The product does not claim any thermal performance. 
 
Product characteristics involved in creating acoustic comfort conditions in the building: 
The product does not claim any acoustic performance. 
 
Product characteristics involved in creating visual comfort conditions in the building: 
The product does not claim any visual performance. 
 
Product characteristics involved in creating olfactory comfort conditions in the building: 

The product does not claim any olfactory performance. 

 

 

  

http://www.eebguide.eu/?p=1991


Page 19 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

9 LIFE CYCLE ASSESSMENT RESULTS FOR A RSL OF ONE YEAR 

Environmental impacts 

Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 

th
e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f e

ne
rg

y 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n/

 

de
m

ol
iti

on
 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 tr

ea
tm

en
t 

C
4 

E
lim

in
at

io
n 

Global Warming  
kg CO2 eq/FU 

6.42E+00 3.68E-01 2.94E+00 0.00E+00 1.11E+00 0.00E+00 2.01E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.50E-02 0.00E+00 1.90E-01 NDM 

Ozone Depletion  
kg CFC 11 eq/FU 

3.06E-07 6.85E-08 3.85E-07 0.00E+00 1.06E-07 0.00E+00 1.48E-08 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.79E-09 0.00E+00 7.97E-09 NDM 

Acidification of soil and 
water kg SO2 eq/FU 

2.48E-02 1.18E-03 1.33E-01 0.00E+00 1.02E-02 0.00E+00 7.51E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.79E-05 0.00E+00 1.77E-04 NDM 

Eutrophication  
kg (PO4)3- eq/FU 

3.75E-03 1.95E-04 3.34E-02 0.00E+00 2.18E-03 0.00E+00 6.84E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.94E-06 0.00E+00 6.58E-05 NDM 

Photochemical ozone 
creation  

Ethene eq/FU 

8.29E-03 1.91E-04 1.19E-02 0.00E+00 1.41E-03 0.00E+00 1.39E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.78E-06 0.00E+00 5.92E-05 NDM 

Depletion of abiotic 
resources -elements  

kg Sb eq/FU 

5.64E-05 1.15E-06 7.77E-06 0.00E+00 5.99E-06 0.00E+00 6.91E-07 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.67E-08 0.00E+00 3.92E-08 NDM 

Depletion of abiotic 
resources -fossil  

MJ PCI/FU 

1.27E+02 5.55E+00 3.51E+01 0.00E+00 1.82E+01 0.00E+00 1.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.26E-01 0.00E+00 6.83E-01 NDM 

Water pollution  
cub/FU 

6.79E+00 1.31E-01 1.52E+00 0.00E+00 6.27E-01 0.00E+00 1.11E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 5.33E-03 0.00E+00 2.52E-02 NDM 

Air pollution  
cub/FU 

5.44E+02 3.87E+01 2.03E+03 0.00E+00 1.88E+02 0.00E+00 2.10E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.57E+00 0.00E+00 1.39E+01 NDM 

 



Page 20 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Use of resources 

Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 th

e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f 

en
er

gy
 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n 

/d
em

ol
iti

on
 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 

tr
ea

tm
en

t 

C
4 

E
lim

in
at

io
n 

Renewable primary energy excl. RM  
 MJ PCI/FU 

6.49E+00 8.26E-02 8.67E+00 0.00E+00 1.23E+00 0.00E+00 7.61E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.36E-03 0.00E+00 2.18E-02 NDM 

Renewable primary energy used as RM  
MJ PCI/FU 

2.02E+00 0.00E+00 3.34E+00 0.00E+00 2.68E-01 0.00E+00 7.42E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Total renewable primary energy  
MJ PCI/FU 

8.50E+00 8.26E-02 1.20E+01 0.00E+00 1.50E+00 0.00E+00 1.50E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.36E-03 0.00E+00 2.18E-02 NDM 

Non-renewable primary energy excl. RM 
MJ PCI/FU 

7.20E+01 5.68E+00 5.66E+01 0.00E+00 1.74E+01 0.00E+00 1.52E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.31E-01 0.00E+00 7.30E-01 NDM 

Non-renewable primary energy used as RM 
MJ PCI/FU 

7.83E+01 0.00E+00 8.44E+00 0.00E+00 4.34E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Total Non-renewable primary energy  
MJ PCI/FU 

1.50E+02 5.68E+00 6.50E+01 0.00E+00 2.17E+01 0.00E+00 1.51E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.31E-01 0.00E+00 7.30E-01 NDM 

Use of secondary material kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Use of renewable secondary fuels  
MJ PCI/FU 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Use of Non-renewable secondary fuels MJ 
PCI/FU 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Net use of fresh water cub/FU 3.19E-01 1.07E-03 6.03E-02 0.00E+00 2.94E-02 0.00E+00 1.05E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.35E-05 0.00E+00 8.64E-04 NDM 



Page 21 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Waste 
category 

Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 th

e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f e

ne
rg

y 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n/

de
m

o

lit
io

n 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 tr

ea
tm

en
t 

C
4 

E
lim

in
at

io
n 

Hazardous 
waste 

disposed  
kg/FU 

1.97E-01 3.35E-03 7.29E-02 0.00E+00 3.66E-02 0.00E+00 1.30E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.36E-04 0.00E+00 6.32E-04 NDM 

Non-
hazardous 

waste 
disposed 

kg/FU 

1.29E+00 2.96E-01 1.01E+00 0.00E+00 5.34E-01 0.00E+00 4.98E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.20E-02 0.00E+00 3.08E+00 NDM 

Radioactive 
waste 

disposed  
kg/FU 

1.76E-04 3.90E-05 3.95E-04 0.00E+00 5.73E-05 0.00E+00 7.25E-06 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.59E-06 0.00E+00 4.85E-06 NDM 

 



Page 22 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Outflows 
Production stage Construction stage Use stage End of life stage 

D
 P

ro
fit

s 
an

d 
co

st
s 

be
yo

nd
 th

e 

sy
st

em
's

 b
or

de
rs

 

A
1 

R
aw

 m
at

er
ia

l 

su
pp

ly
 

A
2 

T
ra

ns
po

rt
 

A
3 

M
an

uf
ac

tu
rin

g 

A
4 

T
ra

ns
po

rt
 

A
5 

In
st

al
la

tio
n 

B
1 

U
se

 

B
2 

M
ai

nt
en

an
ce

 

B
3 

R
ep

ai
r 

B
4 

R
ep

la
ce

m
en

t 

B
5 

R
eh

ab
ili

ta
tio

n 

B
6 

U
se

 o
f e

ne
rg

y 

B
7 

W
at

er
 

co
ns

um
pt

io
n 

C
1 

D
ec

on
st

ru
ct

io
n/

de
m

o

lit
io

n 

C
2 

T
ra

ns
po

rt
 

C
3 

W
as

te
 tr

ea
tm

en
t 

C
4 

E
lim

in
at

io
n 

Components for re-
use  

kg/FU 
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Materials for 
recycling  

kg/FU 

0.00E+00 0.00E+00 7.83E-03 0.00E+00 3.92E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

Materials for energy 
recovery  

kg/FU 
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

E
xp

o
rt

ed
 e

n
er

g
y 

M
J/

F
U

 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 NDM 

 
 

  



Page 23 sur 23 
FDES in accordance with NF EN 15804+A1, NF EN 15804/CN and NF EN 16810 standards 

Homogeneous floor covering Grabo Fortis - May 2019 

 
 

Impact Indicator Unit 
Production 

stage 
Constructio

n stage 
Use stage 

End of life 
stage 

Total 

Global Warming kg CO2 eq/FU 9.73E+00 1.11E+00 2.01E-01 2.05E-01 1.12E+01 

Ozone Depletion kg CFC 11 eq/FU 7.60E-07 1.06E-07 1.48E-08 1.08E-08 8.91E-07 

Acidification of soil and water kg SO2 eq/FU 1.59E-01 1.02E-02 7.51E-04 2.25E-04 1.70E-01 

Eutrophication kg (PO4)3- eq/FU 3.74E-02 2.18E-03 6.84E-04 7.37E-05 4.03E-02 

Photochemical ozone creation Ethene eq/FU 2.04E-02 1.41E-03 1.39E-04 6.70E-05 2.20E-02 

Depletion of abiotic resources -elements kg Sb eq/FU 6.53E-05 5.99E-06 6.91E-07 8.59E-08 7.21E-05 

Depletion of abiotic resources -fossil MJ PCI/FU 1.68E+02 1.82E+01 1.00E+00 9.09E-01 1.88E+02 

Water pollution cub/FU 8.44E+00 6.27E-01 1.11E+00 3.05E-02 1.02E+01 

Air pollution cub/FU 2.61E+03 1.88E+02 2.10E+01 1.55E+01 2.84E+03 

Renewable primary energy excl. RM MJ PCI/FU 1.52E+01 1.23E+00 7.61E-01 2.51E-02 1.73E+01 

Renewable primary energy used as RM MJ PCI/FU 5.36E+00 2.68E-01 7.42E-01 0.00E+00 6.37E+00 

Total renewable primary energy MJ PCI/FU 2.06E+01 1.50E+00 1.50E+00 2.51E-02 2.36E+01 

Non-renewable primary energy excl. RM MJ PCI/FU 1.34E+02 1.74E+01 1.52E+00 9.62E-01 1.54E+02 

Non-renewable primary energy used as RM MJ PCI/FU 8.67E+01 4.34E+00 0.00E+00 0.00E+00 9.10E+01 

Total Non-renewable primary energy MJ PCI/FU 2.21E+02 2.17E+01 1.51E+00 9.62E-01 2.45E+02 

Use of secondary material kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Use of renewable secondary fuels MJ PCI/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Use of Non-renewable secondary fuels MJ PCI/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Net use of fresh water cub/FU 3.81E-01 2.94E-02 1.05E-02 9.08E-04 4.22E-01 

Hazardous waste disposed kg/FU 2.74E-01 3.66E-02 1.30E-02 7.69E-04 3.24E-01 

Non-hazardous waste disposed kg/FU 2.59E+00 5.34E-01 4.98E-02 3.09E+00 6.27E+00 

Radioactive waste disposed kg/FU 6.10E-04 5.73E-05 7.25E-06 6.44E-06 6.81E-04 

Components for re-use kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Materials for recycling kg/FU 7.83E-03 3.92E-04 0.00E+00 0.00E+00 8.22E-03 

Materials for energy recovery kg/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported energy (electricity) MJ/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported energy (steam) MJ/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported energy (process gas) MJ/FU 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

 


